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A 15 2 5 35 4 5 5%
2002 530 4 25 19 52 430
2003 546 3 23 18 47 455
2004 548 7 22 29 214 277
2005 555 6 23 18 220 288
2006 525 4 11 13 193 304
2007 487 3 10 12 187 275
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MEE | HEA | oaea | gEieia

2 3| HMEE | EAIX
2002 918 508 33 6 8 11
2003 792 870 64 29 19 7
2004 809 812 44 11 11 8
2005 1,187 1,287 53 20 18 5
2006 1,137 1376 67 28 26 5
2007 1,068 1,246 30 11 12 6
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AL TEAA T ga © | O |[oo] A |WE A
2003 9552 448539 9552 448539 100 15694 15694 100 15694 2489 77.0
2004 8.51 461,896 9551 461,896 100 11,7285 17285 100 1,7285 2248 79.5
2005 94.35 466,768 94.35 466,768 100 18740 18740 100 18740 171.0 71.0
2006 9434 470856 94.34 470856 100 2,084.5 20845 100 20845 2123 655
2007 94.12 466,661 94.12 466,661 100 1,671.4 1,671.4 100 1,671.4 187.0 64.6
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gy (o 2|4 2| nee | 55T |UEEF o2 | & 2 e e |2ne
2003 72717 178 3.0 706.9
2004 7085 14.2 0.9 6934 0.4 36.0 0.9 108.0 335 - 02
2005 891.1 0.4 10.0 5,630.8 0.2 278 1.1 0.8 25.6 - 05
2006 1,022.5 - 5.2 1,017.3 0.0 6.2 0.6 0.0 5.6 - -
2007 921.2 0.4 5.8 915.0 0.1 31.7 1.6 0.2 298 0.1 0.1
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972.7  270.8 - 4805 2136 646 2023 3612 175 94 635 2708

1,043.4  380.6 0.2 511.0 1906 759 2445 4726 191 09 720 3806

7,924.7  380.8 05 4809 1492 593 2724 4740 203 09 720 380.8

1.384.2 4225 - 5384 1850 541 2993 5236 273 62  67.6 4225
1,265.8 154.0 - 4488 133.0 57.0 2588 301.4 53.6 1.8 92.0 154.0
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i | a5y | S| i | a5y | S| i 2 | a5 | S|
167 9 111 - 64 24 4 - - - - -
194 24 111 - 122 49 4 2 - - - -
195 34 129 - 118 60 50 2 - - - -
159 33 - - 74 25 3 - 24 16 - -
168 35 - - 109 43 3 - 24 16 - -
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